
Introduction to the Theory of Computing 2.

Exercise-set 9.

1. Determine the value of a maximum flow in the networks below, and prove that they are maximal.
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2. I just found a flow of value 15 in the network below when I spilled my coffee and the capacities of
most of the edges became unreadable. Show that the flow I found was maximal.
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3. Is it true that in the network (G, s, t, c) in the picture below the maximum flow value is exactly 19?
(The numbers on the edges denote the appropriate capacities.)
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4. (MT++’12) Determine the capacity of the cut between S,A,G and the rest of the vertices in the
network below and determine whether this cut is minimum or not (between S and T ).
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5. (MT’16, MT+’16, MT++’16) Determine a maximum flow and a minimum cut in the networks
below.
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6. (MT’18) Determine a maximum flow in the network below (from S to T ).
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7. (MT+’18) Determine a maximum flow and a minimum s, t-cut in the network below.

Bevezetés a számításelméletbe II.
pótzárthelyi feladatok

2018.05.14.

1. Legyen G egyszer¶, összefügg®, síkbarajzolható gráf. Mutassuk meg, hogy ha G-
b®l töröljük két éldiszjunkt (vagyis közös élet nem tartalmazó) feszít®fájának éleit,
akkor a kapott gráf biztosan nem lesz összefügg®.

2. A K3,3 teljes páros gráfba behúzunk két nem csatlakozó élet úgy, hogy a kapott
G gráf egyszer¶ legyen. Határozzuk meg G kromatikus számát.

3. Egy 20 csúcsú fában 11 csúcs foka 1 és a maradék 9 csúcs foka is azonos. Hatá-
rozzuk meg a fa élkromatikus számát.

4. Döntsük el, hogy az alábbi gráf intervallumgráf-e.
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5. Adjunk meg az alábbi hálózatban egy maximális folyamot és egy minimális s-t
vágást.
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6*. Adjunk meg olyan gráfot, melyb®l tíz alkalmas élet törölve a kromatikus szám
tízzel csökken és határozzuk meg az ilyen gráfok csúcsszámának minimumát.

A dolgozatra kérjük jól olvashatóan felírni a következ® adatokat: név, Neptun-kód, Neptun

szerinti gyakorlatvezet® neve.

Minden feladat 10 pontot ér, a munkaid® 90 perc. Az aláírás feltétele: a zárthelyin leg-

alább 24 pont elérése. A 100%-os eredményhez elegend® 50 pontot elérni a 60-ból, az

összpontszám 50 pont feletti részét IMSc pontként könyveljük el.

A feladatok megoldását indokolni kell, puszta eredményközlésért nem jár pont. A dolgozat

megírása közben számológép (vagy más segédeszköz) nem használható.

8. (MT+’10) In a network the capacity of the edge e is 3, the capacities of all the other edges are 2,
and we know that the value of the maximum flow f is an odd integer. Is it true then that f(e) = 3?

9. In a network with rational capacities the value of the maximum flow is m. Is it true then that for
each value 0 ≤ x ≤ m there is a flow of value x in this network?

10. (MT+’13) Let a directed graph G, the vertex s ∈ V (G) and the capacity function c : E(G)→ R+

be given. For all v ∈ V (G), v 6= s let m(v) denote the value of the maximum flow from s to v.
Suppose that for some vertex t ∈ V (G), m(t) = 100 holds, but for every vertex v ∈ V (G), v 6=
s, t, m(v) > 100. Show that in this case the total capacity of the edges arriving into t is 100.

11. Let a directed graph G and the capacity function c : E(G) → R+ be given. Suppose that for the
vertices s, t and w ∈ V (G) there is a flow of value 100 from s to t and also from t to w. Prove that
there exists a flow of value 100 from s to w as well.


